CT50Pro + ATR

Brandname of Chemfix PESF

NIV NIrYpr'79x

.p Lhermlech R i
- KRR R m—— nplya .
(N21an i) ATR NiYp 001X -

D2"9NND

compressive strength 43.5 N/mm’
flexural strength : 15.9 N/mm’
flexural modulus 2803
— tensile strength 9.3 N/mm’

1PN

npP'T2 -modulus : 4874.5
N A+ ! / \ E-modu
n20n @ ma Onn

09
European Rt E European

KHK 0756.CPD-0575

Approval Approval
(30-2I02) TTIA JAIY'7 D'ONIY N72D
| w30 | m27 | m24 [ m20 | mie | w2 | mio | wms | 0In DI
2823 | 2382 | 1834 | 1335 84.2 69.5 514 43.1 Nrk,cone
145.4 | 127.4 | 105.0 | 84.0 53.2 37.0 26.8 214 Nrk,adh na'7v a
1IN 7W ONIYy o
280.0 | 230.0 | 176.0 | 1220 79.0 42.0 29.0 18.0 Nrk steel q 2
=
142.5 | 115.0 | 88.0 61.0 39.0 21.0 15.0 9.0 ) Vik nm % 5
N X
67.3 59.0 48.6 38.9 24.6 17.1 124 9.9 Nrd no7y Q =
[an only =g
114.0 92.0 70.4 48.8 31.2 16.8 12.0 7.2 Vid nmm =
481 | 421 | 347 | 278 | 176 | 122 | 89 | 7.1 Nec | notw \7nID ORIy A
81.4 65.7 50.3 34.9 22.3 12.0 8.6 51 Vrec nmm nn'v oniy
2823 | 2382 | 1834 | 1335 84.2 69.5 514 43.1 Nrk,cone
1454 | 1274 | 105.0 84.0 53.2 37.0 26.8 214 Nrk,adh na'7vy z
u9IX ‘7¢I only &
4488 | 367.0 | 2825 | 196.0 | 1256 67.4 46.4 29.2 Nrk steel =
=
2244 | 1835 | 1412 98.0 62.8 337 232 14.6 Vik mm J% =
kN cd
67.3 59.0 48.6 389 24.6 17.1 124 9.9 Nrd noa7y o
[an oniy =
179.5 1468 | 113.0 784 50.2 27.0 18.6 1.7 Vird nm =
48.1 42.1 347 27.8 17.6 12.2 8.9 7.1 Nrec na'7y X7nIn only 3
1282 | 1049 80.7 56.0 359 19.3 13.3 8.4 Vrec nmm nnw oniy
35 32 28 24 18 14 12 10 do nITp 01
280 250 210 170 125 110 90 80 mm hnom 72111 Mpnn poiy -
=]
50 40 40 40 30 30 20 20 NITH PRIY7 12Y0 '7X00 |I02 121y =
300 250 200 150 80 40 20 10 Nm Tmax 7X'0pPN MpPNN DININD j_:n
a
89 72 43 29 83 5.6 39 2.8 ml (25% 7w NN2 '7712) AN / 0IN NN
45 55 9.3 13.6 479 71.2 807 807 7D 410 N719NX/0NIN NINJ

NPT NP N2 |7"'l'7 ip v 72X NI NNI22 NIDIXNN NINON *2

CT50Pro + ATR




N1 nlpna pnly 197 [IDAN AXPD D'PNAINDID'AIYA 12 02NN n'7ap

150 140 125 110 100 90 80 70 heff A1y mpnn pniy
450 420 375 330 300 270 240 210 Scr oIy 2'0"p pnan
75 70 62.5 55 50 45 40 35 mm Smin D22IYN 2 '7X'N PN
225 210 | 1875 | 165 150 135 120 105 Car ID2N XD DR PN
75 70 62.5 55 50 45 40 35 Cmin [ID2N NXPR 7K' PN
400 340 300 280 240 210 200 170 heff ]Iy Mpnn pRiy
1200 1020 900 840 720 630 600 510 Scr 0'2yn 2'0Mp pnan
200 170 150 140 120 105 100 85 mm Smin DY |12 '7XN0 PN
600 510 450 420 360 315 300 255 Cer [ID2N N¥PR 'DIP PN
200 170 150 140 120 105 100 85 Cmin [ID2N NXPR *7XID PND

.N9'7w2 P71 DDA DI OY7XNIDIIND D'PNINN .0'0NIY NNN9AA 02113 D'7XN'NAN D'PNINA
21y 72 miwr 197 2WN'7 W1 Y7RNTD9IX PRI 'Y 01T N7120N 2wnY

niy" 197 |atyn alvn

(ENV 1992-4: 2018 |pn '97 NDWIIN 2IW'N NIX)
nnyn

NN'W/0IX7NIN/0YIN'Y 0'onIy '9'7 X71 design |20 '0NIY '97 0121y NX 0'awnn ENV |pn 97 -
D'AYND [20 INX7,[31IVN IRIN NYp (1020 001 ,"Pull-out” N9'7w2 7w 1210 3 '97 |21)yN NX DAWND -
271UNN 7N DX D'PTIA 91021 pry-out-1 A1V ININ NY'P ,|IDIN N¥P N7'TA2 7WI 1210 3

no7waTvwo -1

Nrd,p = Nord,p fr.fe-cp.fan-cp.fRN-cp  "COMBINED PULL-OUT" 97 '7w3 1.1

Pull-out n97wa piyn 7w ‘7811 PN pTin N°rd,p

Mpnn poly nyswn 0Tpn fr

B Combined Pull-out 7w2 97 ipan a0 nyawn omim | fe-p

Combined Pull-out 7w3 97 nnay 2 fapnn nyswn oTpn | fan-p

Combined Pull-out 7w 97 jnan n¥pn pnn nyswn oTpn | fan-p

M30 M27 M24 M20 M16 M12 M10 M8 |21yn a0 Nord,p
280 250 210 170 125 110 90 80 mm hnom MIDI9ND | |ID22I0
660 | 57.8 | 476 | 381 | 241 | 168 | 122 | 97 DWW -PrToN7 A | 24°/40° g
kN =
(@]
541 | 480 | 400 | 324 | 208 | 146 | 107 | 87 DWW - PITo X702 | 50°/ 80° =~
20d > heff > 4d Dy (mm) 731 pnn poly | hnom | heft
- hnom
C50/60 C45/55 C40/50 C35/45 C30/37 C25/30 C20/25 C15/20 |Ib2n 210
1.1 1.09 1.08 1.06 1.04 1.02 1.00 0.98 fg

CT50Pro + ATR




combined pull-out 7w '97 01y 2 12 pnn Nyswn 070 fan-cp
M30 M27 M24 M20 M16 M12 M10 M8 [ayn 210
UNNWUN7 Wt pniy7 7yn * v v Y v v v v v heff

onip7 w397 fay7wn7apa | *PD170 | D160 | *D'DI1S0 | *P'p135 | *D'D 115 *n"N 90 "M 75 *n'N 60 s
<1670y JIban 0.54 0.54 0.54 0.55 0.56 0.58 0.59 0.61 40
0.55 0.55 0.56 0.56 0.57 0.60 0.61 0.64 50
0.56 0.56 0.57 0.57 0.59 0.62 0.63 0.67 60
0.57 0.57 0.58 0.59 0.60 0.64 0.66 0.69 70
0.58 0.58 0.59 0.60 0.62 0.65 0.68 0.72 80
0.59 0.59 0.60 0.61 0.63 0.67 0.70 0.75 90
0.60 0.60 0.61 0.62 0.65 0.69 0.72 0.78 100
0.62 0.63 0.64 0.65 0.69 0.74 0.78 0.85 125
0.65 0.66 0.67 0.68 0.72 0.79 0.84 0.92 150
0.70 0.71 0.72 0.75 0.80 0.89 0.95 1.00 200
0.75 0.76 0.78 0.81 0.87 0.98 1.00 250
0.79 0.81 0.84 0.87 0.95 1.00 300
0.84 0.87 0.89 0.93 1.00 350
0.89 0.92 0.95 0.99 400
0.94 0.97 1.00 1.00 450
0.99 1.00 500
1.00 600
fan-cp = 0.5+ 0.5 - > [APmD IR DD | TIN7 D'DTPNN NX 7'9207 W' *

e Skl JPOININ 1IN |11 197 TN IX ' @ : G

X1y 12 pnin .
Xo piyi $1-2 fan=fans1-2. fans1-3 by po

S13 ;
Scr-np = 20 x [Nrk,adh,pno g xd/(7.5 x X hnom)]a5 < 3 X heff Q 5 ; Q

combined pull-out 7w2 197 1020 N¥PR PNN NYawn DTN frn-cp
M30 M27 M24 M20 M16 M12 M10 M8 [y 210
UDNWUN7 W't pniy7 7yn * v v v v v v v v heff
onipyYwI 97 fry7wn7apa | D170 | D160 | DD 150 | DD 135 | *D"D 115 *n"N 90 "M 75 *n"N 60 c
-168'Dy1,|ID1N 0.58 0.58 0.59 0.60 0.62 0.65 0.68 0.72 40
0.60 0.60 0.61 0.62 0.65 0.69 0.72 0.78 50
0.62 0.63 0.63 0.65 0.68 0.73 0.77 0.83 60
0.64 0.65 0.66 0.67 0.71 0.77 0.81 0.89 70
0.66 0.67 0.68 0.70 0.74 0.81 0.86 0.95 80
0.68 0.69 0.70 0.72 0.77 0.85 0.90 1.00 90
0.70 0.71 0.72 0.75 0.80 0.89 0.95 100
0.75 0.76 0.78 0.81 0.87 0.98 1.00 125
0.79 0.81 0.84 0.87 0.95 1.00 150
0.84 0.87 0.89 0.93 1.00 175
0.89 0.92 0.95 0.99 200
0.99 1.00 1.00 1.00 250
1.00 260
o= 05+ (mm) |Ib2n NXP TY NN | C | DTPDA NX 719907 W' E . B ' v E‘
Scr-np .01 727 TN IX TINY il\ e i ‘5_'
JID2N N9 1Y ,XDAITT s v C.
! N <
fan="frny - fRn 2 i !
i :
i ;
i

CT50Pro + ATR




Nrd,c=N’rac.fg.fan.fan  [Ib2n omip 9y 7wd 1.2

o
t‘H (DN n¥pn pnmnyswnoTn | fan 1D onip 197 n9f7wa piyn 7xan PR pTn | Norde

(mm) aiyn napnn poiy heff |ID2N 210 NYsWN DTN fg

oayn fapnmnyswnoTm | fan

Ndc=7,7.25" . (hef)"*/ 1500 P70 [1D27 Norac=11.25% . (hef)" / 1500 PITO XY 1027
Nord,c
160 140 120 110 100 ) 80 mm heff
742 60.7 4822 03 367 313 262 kN PITO X7 102
320 300 280 240 200 200 170 mm heff
209.9 190.5 171.8 136.3 103.7 103.7 81.3 kN PITO X7 102
fom fok 05 €50/60 C45/55 C40/50 C35/45 C30/37 €25/30 €20/25 (D27 210
25 155 148 141 134 122 1.10 1.00 fg
S
faN=05+ ———
AN=0.5 6 har

o'y 22 PN nYawn 0T fan

400 340 300 280 210 170 150 125 110 100 90 80 heft S
0.53 0.53 0.53 0.54 0.55 0.56 0.57 0.58 0.59 0.60 0.61 0.63 60
0.53 0.53 0.54 0.54 0.56 0.57 0.58 0.59 0.61 0.62 0.63 0.65 70
0.53 0.54 0.54 0.55 0.56 0.58 0.59 0.61 0.62 0.63 0.65 0.67 80
0.54 0.54 0.55 0.55 0.57 0.59 0.60 0.62 0.64 0.65 0.67 0.69 90
0.54 0.55 0.56 0.56 0.58 0.60 0.61 0.63 0.65 0.67 0.69 0.71 100
0.55 0.56 0.57 0.57 0.60 0.62 0.63 0.66 0.68 0.70 0.72 0.75 120
0.56 0.57 0.58 0.58 0.61 0.64 0.66 0.69 0.71 0.73 0.76 0.79 140
0.58 0.59 0.60 0.61 0.64 0.68 0.70 0.74 0.77 0.80 0.83 0.88 180

0.58 0.60 0.61 0.62 0.66 0.70 0.72 0.77 0.80 0.83 0.87 0.92 200
0.60 0.62 0.64 0.65 0.70 0.75 0.78 0.83 0.88 0.92 0.96 1.00 250

0.63 0.65 0.67 0.68 0.74 0.79 0.83 0.90 0.95 1.00 1.00 300
0.67 0.70 0.72 0.74 0.82 0.89 0.94 1.00 1.00 400
0.71 0.75 0.78 0.80 0.90 0.99 1.00 500
0.75 0.79 0.83 0.86 0.98 1.00 600
0.79 0.84 0.89 0.92 1.00 700
0.83 0.89 0.94 1.00 800
0.90 0.97 1.00 960
0.96 1.00 1100
1.00 1200

CT50Pro + ATR




fan=0.5 + ﬁ
(ID2N AXPD PNID NYDWN DT fRy
400 340 300 280 210 170 150 125 110 100 90 80 heft c
0.54 0.55 0.56 0.56 0.58 0.60 0.61 0.63 0.65 0.67 0.69 0.71 50
0.56 0.57 0.58 0.58 0.61 0.64 0.66 0.69 0.71 0.73 0.76 0.79 70
0.57 0.58 0.59 0.60 0.63 0.66 0.68 0.71 0.74 0.77 0.80 0.83 80
0.58 0.59 0.60 0.61 0.64 0.68 0.70 0.74 0.77 0.80 0.83 0.88 90
0.58 0.60 0.61 0.62 0.66 0.70 0.72 0.77 0.80 0.83 0.87 0.92 100
0.60 0.62 0.64 0.65 0.70 0.75 0.78 0.83 0.88 0.92 0.96 1.00 125
0.63 0.65 0.67 0.68 0.74 0.79 0.83 0.90 0.95 1.00 1.00 150
0.65 0.67 0.69 0.71 0.78 0.84 0.89 0.97 1.00 175
0.67 0.70 0.72 0.74 0.82 0.89 0.94 1.00 200
0.71 0.75 0.78 0.80 0.90 0.99 1.00 250
0.75 0.79 0.83 0.86 0.98 1.00 300
0.83 0.89 0.94 0.98 1.00 400
0.92 0.99 1.00 1.00 500
1.00 1.00 600
Nrd,s = Nrk,s/ Ysn jiynnina'7w3 1.3
b M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 As
l 849.6 721.8 583.5 477.3 367.2 254.7 163.2 87.6 60.3 38.1 mm’
kN Nrd,s
M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 [ayn 210
209.6 178.0 149.3 122.7 94.0 65.3 420 22.7 15.3 10.0 4807179
283.2 240.6 186.7 153.3 117.3 81.3 52.7 28.0 19.3 12.0 5817179
435.7 370.1 299.2 244.7 188.3 130.7 83.7 449 309 19.5 8.8NT179
606.9 515.5 416.4 340.7 262.1 182.1 116.4 62.1 429 27.1 10.9N7179
- - - - 132.1 91.7 58.8 31.6 21.7 13.9 (A4-70) SS316 npboINn
- - - - 176.3 1225 78.8 419 28.8 18.1 (A4-80) SS316 npnoINn

Nra =min {Nrd,c, Nra,p , Nra,s} :n9'7wa'7wo Do
Nrd > NIN7 11X 19792 21N 7V 7¥9I0N |20 ODIVA

CT50Pro + ATR




mmavl-2

b3 Vrd,s = Vrk,s/ Ysv Jlynnina '7vi 2.1
kN VTd,S
M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 [y 210
1258 102.7 108.0 88.0 68.0 47.2 304 16.0 11.2 7.2 480779
170.0 138.8 112.0 92.0 70.4 48.8 31.2 16.8 12.0 7.2 5.80N7179
2614 222.1 179.5 147.2 113.0 784 50.4 27.2 18.6 12.0 8.8NT79
283.2 249.6 2159 191.0 146.8 101.9 65.3 35.1 24.1 15.2 1091779
- - - - 79.5 55.1 353 19.2 12.8 83 (A4-70) SS316 nbonNn
- - - - 112.8 784 504 27.2 18.4 12.0 (A4-80) SS316 Nnbonn
ST37 0779 110 NIDIN 7¥ BITIVON XX .NDIXA N'DITIDO NI 5.8 NT79 *
Vide=Vrdc.fa.fyv.fary D20 N¥p 197 '7wd 2.2

ADIToTinn oy Wwp N7 ‘('7DID AXPOND DX TIXD O'PNAD ANMIX 2 W NT'Da

T2 PIYR 7Y 7m0 2N pTin Vordc

|ID2N 210 NYsYN DTN f

[ID2N ¥} (1121 7y9IDN NN (I8 A N nyswn ot | fyy

DIV 2 PIN0EIDAN NXpR pnn nyswn oTpn | fary

(mm) jpiyn oip d

(mm) aiyn mpnn pniy heft

(mm) 12N N¥P TY PRN d
a=0,1. (hef/0)*’
o Voide=[24.d% e .25°°.c"*1/1500 PITO XY 1027
B=0,1.(d/c)"
kN Vord,c kN Vol’d,(
M30 | M27 | M24 | M20 | M16 | M12 | M10| M8 | pwnaio M30 | M27 | M24 | M20 | M16 | M12 | M10 | M8 | paaio
280 | 250 | 210 | 170 | 125 | 110 | 90 | 8o |he c 280 | 250 | 210 | 170 | 125 | 110 | 90 | 80 [Deft
284 | 268 | 248 | 226 | 203 | 189 | 178 | 170 | 125 | 4 85 | 77 | 68 | 59 | 49 | 44 | 40 | 37 40 | 4
(m] (m)
352 | 333|310 | 285 | 258 | 24.1 | 228 | 218 | 150 ; 05| 96 | 86 | 75 | 64 | 58 | 53 | 50 50 ;
423 | 402 | 376 | 347 | 316 | 297 | 282 | 270 | 175 | 2 127 | 117105 ] 93 | 80 | 73 | 68 | 63 60 |2
498 | 474 | 445 | 412 377 | 356 | 338 | 325 | 200 | | | 149 | 138 | 125|111 ] 97 | 89 | 83 | 78 70 |
655 | 626 | 59.1 | 55.2 | 50.8 | 482 | 46.0 | 443 | 250 172 | 160 | 146 | 13.1 | 115 | 106 | 98 | 93 80
824 | 790 | 749 | 702 | 650 | 619 | 59.2 | 572 | 300 196 | 183 | 167 | 151 | 133 | 123 | 115 [ 109 | 90
1002 | 963 | 91.6 | 862 | 802 | 765 | 734 | 71.1 | 350 220 [ 206 | 190 | 172 | 152 | 141 | 132 | 126 | 100
foc 05 C50/60 C45/55 C40/50 C35/45 C30/37 C25/30 €20/25 Iban 210
fg=(—)"
B=(% ) 1.55 148 141 134 1.22 1.10 1.00 fg
90° 80° 70° 60° 50° 40° 30° 20° 0° v
25 2.32 197 1.64 1.40 124 113 1.05 1 fyv
|ID2N ﬂ¥|7'7 n'on' Nt oniyn nit | Y |
1 o o
fyv= / 5 > 0°<y<90
(cosy)” +(0,25.siny)

102N NYPY7 721R0 NIDN 290 DX X AWNYT7 w,90°-0 0717 DT nToa
] I ]
ID2N NXP'7 190 |12 1Y NIDN 2127P2 AWNNNT7 Y 'R

CT50Pro + ATR




fARy = 1 TTA PIY'7 *

(mm) NpPTaN |11 197 102N NXP TV PNID C ¢ 3c+S1+52+534 ...+ 5n1 0221y N¥Iap'7 *
ARV =
(mm) 11N NP DY 720 12 '97 DAYN |12 PN Sx 3nc
[ID2N NXP7 NANP DN NIYAD 021y 1900 n

mm ENV 91X [pn 7w niwnT E T — —
r 7 . G0 W GEr
16 | 14|12 10| 8 | 6 BRI i G @ ‘ Q r@ G ;
[ ]
1816 | 14 | 12| 9 7 NTONID AT7927IN 19 (o 40 b 1
1 : -2 - 1
1 ]

1
mm ENV o [pn 7w niwnT i ik E
1 ]
30 | 27| 24 | 22| 20 | 18 [V 101 ! @ G @ G :[@ '
1 ]
33|30 | 26 | 24|22 20 DY AT792 N —— :

NT7927N7 2IYN 2 NNXNN NN X707 (0720 NX1) 21y 01 DY NTRYINN 17792 71NN DX OXNNT7 U'LENV 1992-4:2018 'XDINIX [j7N 197
JID2N NYP'7 NI N2NPN D22IYN NIY2A 270772 2WNNnT7 72131 0121IYN DNIY 22 112 NIND 12yN N'DAN7 NNYOX 'K NN 170 IX

Vrd,cp= 2. Nrd,c Pryout 97 7w3 2.3

(1.2n9"7w2a 7wd 2IWN NXD) | Nrd,c |

Via=min {Viap, Vrdc, Vrd,st 17V DIR'O
Vid > NIN7 11X 197w 21YN 7V 79100 9N 01V

A7ivnnoniyn77vwI -3

[ayn 7y 7y2imn n9'7¢2 pn oniy Nsd
[y 7y 7y9mn N1 on ony Vsd
N 15 v 15 (Nrd,c, Nrdp) DIDIMD = NRd,concrete
sd ' sd '
NRd,concrete + VRd,concrete =1 (Vid,c, Vrd,cp) DM = VRd,concrete
Nsg 2 Vsa 2 Nrds = NRd steel
) + ( ) <1
NRd,steel VRdsteel Vids = VRdsteel

CT50Pro + ATR




11pna 1T

AN NP7 (1
Y201 MIX XN DY NN DX N7 (2

(

(
AINA 910N INN DX PT7 (3
.12'02 DINN NX 01217 (4
(

'910 NIwa"NnY TV NIpT 90-30 'NNNY7 (5

027 ¥ 7W 0"10D DN WNNWAT [N X7,19117K1 0'RI7200 DDIY XIX2 O')PI720V {100
2" 1000 Ty 400-N 7w Ty N9'7U2 D'ONIY NIOX7 TWOX,O'PI722 M1 1Y 7y 121YW NIAN Nip'T12 197
1720 7w NINWNN NI2XNN O'X111 0'7ITa0 0'wI9n

NTI2YN N7'NN 197 1NXA NPT YNaA7 X700

1pna 1T

("N 20 Ty 12) ' NWA7 DXNIN DIPA NN NP7 (1

1722 NWIN DX 9INT7 (2

(2 n'71y9 197 3 n'71y9) pI'72'7 IN0121 1197 NWI2 ININN NIX 7TN7 NI 7p ,0'D'100 0Npna*
JD'J ININA NWIN NX X'7N7 (3

.212'02 DINA NX 011217 (4

1910N w127 TY NV 'Nnn7 (5

CT50Pro + ATR




D'0”pnI NIT'N

- b} D19 IXN
g 08464 CT50Pro 410ml
ﬁ 08461 CG410 1T AT NTPX
§ 01461 EG410 '70wn nptn NTpX
H 02461 PG410'0Xn19 NpATtn NTPX
i# : 23205 M12x1000mm 2 WA
23210 M16x1000mm M nvN
23220 M22x1000mm M nvN
51250 M12x50 127 |I'7m
51685 M16x85 1127 |I'7m
51613 M16x130 137 |I7m
52085 M20x85 1137 |I7m
A A
. tensile 01p
yield strength strength 0N DINN X DINNDIP
779210 n’pn D9 XN
fic fuk sw L d
(N/mm?°) (N/mm°) (mm) (mm) (mm)
10 70 6 05080670 ATR 5.8 M6x70
13 110 8 05080811 ATR 5.8 M8x110
17 140 10 05081014 ATR 5.8 M10x140
17 190 10 05081019 ATR 5.8 M10x190
19 165 12 05081216 ATR 5.8 M12x165
19 220 12 05081222 ATR 5.8 M12x220
400 500 5.8
24 160 16 05081616 ATR 5.8 M16x160
24 190 16 05081619 ATR 5.8 M16x190
24 230 16 05081623 ATR 5.8 M16x230
30 260 20 05082026 ATR 5.8 M20x260
30 290 20 05082029 ATR 5.8 M20x290
36 300 24 05082430 ATR 5.8 M24x300
13 110 8 03160811 ATR SS316 M8x110
17 130 10 03161013 ATR SS316 M10x130
19 160 12 03161216 ATR SS316 M12x160
450 700 SS316 (A4)
24 190 16 03161619 ATR SS316 M16x190
30 260 20 03162026 ATR SS316 M20x260
36 300 20 03162430 ATR SS316 M24x300
yield strength tensile strength 1P
pinn DINN IX DINN VIR ’
fyk . fuk . - N779210 0" D19 7IXM
(N/mm?”) (N/mm”)
(mm) (mm) (mm)
8 80 12 08520 ITS M8x80
400 500 10 58 90 16 08522 ITS M10x90
12 110 20 08524 ITSM12x110

.(ATR 5.8 M16x230 GG X2IT7) IXINN DY INX7 GG |"Y'7 X .WXIN NINTNA [NP'D 30 2I'TI9rTINA (11722 NIBIDA NX 727 N0

UOPro + AlR



ATR

T

s

yield strength s:?::gfh n?ll;llgn TIX 01
fyk ka sw nT179210 L d D"|')D DD XN
(N/mm’) (N/mm’) (mm) (mm) (mm)

10 6 03761000 ATR 37 M6x1000
13 8 03781000 ATR 37 M8x1000
17 10 03710100 ATR 37 M10x1000
19 12 03712100 ATR 37 M12x1000
22 14 03714100 ATR 37 M14x1000

270 500 24 o137 16 03716100 ATR 37 M16x1000
27 18 03718100 ATR 37 M18x1000
30 20 03720100 ATR 37 M20x1000
32 22 03722100 ATR 37 M22x1000
36 24 03724100 ATR 37 M24x1000
4 27 03727100 ATR 37 M27x1000
46 30 03730100 ATR 37 M30x1000
10 6 08861000 ATR 8.8 M6x1000
13 8 08881000 ATR 8.8 M8x1000
17 10 08810100 ATR 8.8 M10x1000
19 12 08812100 ATR 8.8 M12x1000
22 14 08814100 ATR 8.8 M14x1000

540 800 24 68 1000 16 08816100 ATR 8.8 M16x1000
27 18 08818100 ATR 8.8 M18x1000
30 20 08820100 ATR 8.8 M20x1000
32 22 08822100 ATR 8.8 M22x1000
36 24 08824100 ATR 8.8 M24x1000
4 27 08827100 ATR 8.8 M27x1000
46 30 08830100 ATR 8.8 M30x1000
10 6 31661000 ATR $5316 M6x1000
13 8 31681000 ATR $5316 M8x1000
17 10 31610100 | ATRSS316 M10x1000
19 12 31612100 | ATRSS5316 M12x1000
19 14 31614100 | ATRSS316 M14x1000

450 200 24 — 16 31616100 | ATRSS316 M16x1000
19 18 31618100 | ATRSS316 M18x1000
30 20 31620100 | ATRSS316 M20x1000
19 22 31622100 | ATRSS316 M22x1000
36 24 31624100 | ATRSS316 M24x1000
4 27 31627100 | ATRSS316 M27x1000
46 30 31630100 | ATRSS5316 M30x1000

(ATR 5.8 M16x230 GG XD2IT7) IXINN DW INX7 GG |7 X1 .WXIN NINTNA [1N2'D 30 TI9ITINA0 [17'22 NIDINN NX 72p7 |N1

054-7976110 N”y2 D'TX N1AN 0TIAN'7 NII9Y7 X1 ,N9011 N'7XVY '772

CT50Pro + ATR




CT50Pro + rebar

Brandname of Chemfix PESF

NIV NI¥p'79X
(02 -

[I'T 712/ XIp o'pI7a .
NIYp 01IX -

- CheriiTech?

n'1"9XN

compressive strength 43.5 N/mm2 0
flexural strength : 15.9 N/mm
flexural modulus 2803

tensile strength 9.3 N/mm2 .
e-modulus :4874.5 «

VOC CLASSIFICATION*

o - N p
} i uropean
1)
e [Ty a Onn Approva

220N A+JAlIBI ¢

EUROPEAN TECHNICAL APPROVAL
ETA 15/0008- ETAG 001

‘7w DN on

(30-21D2) TTI2 J21Y'7 D'ONIY N'72D

| 032 | 928 | 025 | 22 | 020 | @18 | 016 | 014 | @12 | 010 | 08 | 4112100
3449 | 2823 | 1834 | 1834 | 1335 | 1335 | 84.2 84.2 69.5 514 43.1 Nrk,cone
137.8 | 118.1 | 83.1 | 799 | 62.1 | 61.2 | 444 | 403 | 31.8 | 243 | 18.1 Nrkadh | N9'7W Yy 0Ny
4420 | 338.7 | 270.0 | 2083 | 173.0 | 1395 | 111.0 | 844 62.0 43.0 28.0 Nrk steel 191X -
221.0 | 168.8 | 135.0 | 104.5 | 86.6 | 70.0 | 55.5 | 42,5 | 31.1 21.5 | 14.0 Vik mm J%
656 | 562 | 396 | 381 | 296 | 292 | 211 192 | 151 11.6 8.6 KN Nrd n91'7y E
1473 | 1125 | 900 | 69.7 | 57.7 | 467 | 37.0 | 283 | 207 | 143 9.3 Vrd nm pnopy =
469 | 40.2 | 283 | 27.2 | 21.1 | 20.8 | 15.1 | 13.7 | 10.8 | 8.3 6.2 Nrec n9'7¢ | y7om oniy
105.2 | 804 | 643 | 498 | 41.2 | 334 | 264 | 20.2 | 148 | 10.2 6.7 Vrec mm nnw only
320 280 210 210 170 170 125 125 110 90 80 hnom 72111 Mapnn poiy
40 35 30 27 25 22 20 18 [16(14)| 12 10 | mm do nITp 01 E
80 80 60 60 50 50 40 40 30 30 30 NIT{ PRIY7 12YN 17800 (102 21y E
181 121 57 51 38 27 18 16 12(6) | 3.9 28 ml (25% 7w N9 7712) AN /0IN Nind E
22 33 7.1 79 10 15 22 25 |[33(65)| 802 807 7'0 410 N'7190DX7 DNIN NN

X' 1M1 7y 0'00I1ANI ENV 1992-4:2018 [P '97 0'AWIND ,O'PN1D NIYSW '71,30-1 1012 TTIA 21y '9'7 0'120 01N
X7DID AT 'K .Np2TAN NID 7W 017172 N1NN9NY7 D2 DI7N' NIT'PRA IX 40% 7yD N110D190RD2A CT50Pro 'N'D 22T WINWY
NPT NNLP NP PPT7 'WIR W' 72X NN DDIXTNN NINN *2

IN21 NIpNA PRIy '9Y [ID2N AXPR D'PNINI DAY |2 D'PNIN 171D

170 150 125 110 100 90 80 heff [yn mpna poiy
510 450 375 330 300 270 240 Scr 0'221yn 2'Dp PN
85 75 62.5 55 50 45 40 mm Smin DY |2 '7X010 PNIN
255 225 187.5 165 150 135 120 Car (ID2N PR 1BAP PRI
85 75 62.5 55 50 45 40 Cmin [ID2N NXPR 7DD PNID
400 320 300 280 240 210 200 heff |y mpnn pRiy
1200 960 900 840 720 630 600 Scr 02yn 2'0"p pnan
200 160 150 140 120 105 100 mm Smin D210 127X PN
600 480 450 420 360 315 300 Cer [ID2N AYPR 'R PRIN
200 160 150 140 120 105 100 Cmin [ID2N NP 78N PNIN

.N9'7W1 P71 O'DAITT DN DY7XNIDDIND D'PNINA .D'ONIY NNN9AA 021N D'7XNY'DA D'PNINA
a1y 732 Diwn 197 2wn7 Wt Y7RDDDIX PRI 'Y, N7120N 21wnYT



DIy 1977 |Alyn YN
(ENV 1992-4: 2018 |jpn '97 NDYDIND 2IW'N NNIX)
nnyn
NIN'W/0X70IN/0'YIN'Y 0'0NIY '9'7 X71 design [2N 'ONIY '9'7 0'221yN NX 0AWNnD ENV |pn '97 -
0'aYNN |20 INX7,21IYN 0N NyIp 102N 011, "Pull-out” N9'7W2 7w 210 3 197 2Iyn NX DAVND -
71UnNn 7U2N DX O'PTIA 91021 pry-out-1 [AIVN ININ DY ,|IDAN N¥P 11T 7W 210 3

no7wa v -1

Nrd,p= Nord,p f1.fB-cp. fAN-cp - fRN-cp  "COMBINED PULL-OUT" 197 7w 1.1

[0)
Pull-out na'7wa piyn 7w 'annpnpun | Nrdp

g MpNn PRIy NYOwn 0T fr

Combined Pull-out 7w2 97 Ipan A0 nyswn oTpn | facp

Combined Pull-out 7w3 97 iy 2 22 pnn nyswn 0Tm | fan-cp

Combined Pull-out 7w3 197 |I02n N¥pPP pNAD NYswN 0T | fRN-cp

32 28 25 22 20 18 16 14 12 10 8 [ayn o Nord,p
320 280 210 210 170 170 125 125 110 90 80 mm hnom MIDI9ND | [ID22I0
643 | 55.1 | 388 | 373 | 290 | 286 | 207 | 188 | 148 | 114 | 84 2D WA - PITO X7 |ID2 24°%/ 40° 5_'
kN E
540 | 463 | 334 | 321 | 249 | 249 | 182 | 165 | 131 | 102 | 76 Wnw-proxypoa | 50%/80° | E
(mm) piynnmpnnmiy | hef heff
20d > heff > 4d Dy fr=
(mm) ‘7 napnapoy | hnom hnom
C50/60 C45/55 C40/50 C35/45 C30/37 C25/30 C20/25 C15/20 |Ib2n 210
1.15 1.12 1.1 1.07 1.04 1.02 1.00 0.97 fg

CT50Pro + rebar




(mm) (102N NP TY PNIN |

JID2N N2'92 1Y, XNAITT
RN = fRNy - fRN .2

combined pull-out 7w '97 a1y 2 12 PN Nyswn 0T fan-cp
32 28 25 22 20 18 16 14 12 10 8 [ayn a0
7yn 7yn 7yn 7yn 7yn 7yn 7yn 7yn 7yn 7yn vn heff
W'D150 | *N'D 140 | *ND 125 | *ND 120 | *NM 115 | *P'D 105 | *P'D100 | *P'D 90 *n8eo | *N'n70 *n"N 55 s
0.54 0.55 0.55 0.55 0.56 0.56 0.57 0.57 0.58 0.59 0.62 40
0.55 0.56 0.56 0.57 0.57 0.58 0.58 0.59 0.60 0.62 0.64 50
0.56 0.57 0.57 0.58 0.59 0.59 0.60 0.61 0.62 0.64 0.67 60
0.57 0.58 0.59 0.59 0.60 0.61 0.61 0.63 0.65 0.66 0.70 70
0.58 0.59 0.60 0.61 0.61 0.62 0.63 0.65 0.67 0.69 0.73 80
0.59 0.60 0.61 0.62 0.63 0.64 0.65 0.66 0.69 0.71 0.76 90
0.60 0.61 0.62 0.63 0.64 0.65 0.66 0.68 0.71 0.74 0.79 100
0.63 0.64 0.65 0.66 0.67 0.68 0.70 0.72 0.75 0.78 0.85 120
0.65 0.66 0.67 0.69 0.70 0.71 0.73 0.76 0.79 0.83 0.90 140
0.69 0.70 0.72 0.74 0.76 0.77 0.79 0.83 0.87 0.92 1.00 180
0.71 0.73 0.75 0.77 0.79 0.80 0.83 0.86 0.92 0.97 200
0.76 0.78 0.81 0.83 0.86 0.88 0.91 0.96 1.00 1.00 250
0.81 0.84 0.87 0.90 0.93 0.96 0.99 1.00 300
0.87 0.89 0.93 0.97 1.00 1.00 1.00 350
0.92 0.95 0.99 1.00 400
1.00 1.00 1.00 480
.189'1y2 ,|ID2N 0NIP7 7w2 97 faN 7V N'7202 WNNWANT W' 0T pRIV7 NNNn *
faN-cp = 0.5 + 0.5 x I3 PmD IaEa ?TPD fAN TIN7 D'DTPNN NX 7'90n7 V! *
e Rkl AP9IX X DIX |11 197 TN IX ' @ : @
X1y 2 pnn ; :
X [ $1-2 fan="fans1-2. faNs1-3 B .
S13 ;
Scr-np = 20 X [Nrk adh,priox X d/(7.5 X T X hn(,m)]o'5 <3 X heff @ 8 @
combined pull-out 7w 197 Iban N¥PNR PR NYOWN DTN fRn-cp
32 28 25 22 20 18 16 14 12 10 8 [aiyn 210
7vn 7vn 7vn 7vn v 7vn 7y 7vn v 7vn 7vn heff
D150 | *ND 140 | *N'M125 | *M'D120 | *M'D 115 | *P“D105 | *P’D 100 | *N’D 90 "N 80 *n'n 70 *n"N 55 c
0.58 0.59 0.60 0.61 0.61 0.62 0.63 0.65 0.67 0.69 0.73 40
0.60 0.61 0.62 0.63 0.64 0.65 0.66 0.68 0.71 0.74 0.79 50
0.63 0.64 0.65 0.66 0.67 0.68 0.70 0.72 0.75 0.78 0.85 60
0.65 0.66 0.67 0.69 0.70 0.71 0.73 0.76 0.79 0.83 0.90 70
0.67 0.68 0.70 0.71 0.73 0.74 0.76 0.79 0.83 0.88 0.96 80
0.69 0.70 0.72 0.74 0.76 0.77 0.79 0.83 0.87 0.92 1.00 90
0.71 0.73 0.75 0.77 0.79 0.80 0.83 0.86 0.92 0.97 100
0.75 0.77 0.80 0.82 0.84 0.87 0.89 0.94 1.00 1.00 120
0.79 0.82 0.85 0.88 0.90 0.93 0.96 1.00 140
0.88 0.91 0.94 0.98 1.00 1.00 1.00 180
0.92 0.95 1.00 1.00 200
1.00 1.00 240
.190’0Y1,|ID2N 0117 '7w2 197 fry 7w N720D2 WDNWAT W' AT pRIY7 NNND *
fatvcp = 05+ 0'NTpPRA NX 7'9307 W by’ 37 E—
Scrp 01N 727 TN IX TINYT ) Bl v g

CT50Pro + rebar




o
Nrd,c=N"rd,c.fa.fan.frn [ID2n onip 197 '7¢3 1.2

Y, °
oayn 2 pnn nyswnoTm | fan 120 01Ip 197 N9'7wA Py *7Xamn PN TN | Norde
|ID2N NXPD 27NN NYsvwn 01PN fRN |ID2N 210 Nyswn 07D fB
NCe=77-25% - (her) /1500 pr1ooay NCge=11-25% - (he) ™ /1500 P70 X7 1027
kN Nord,c
170 150 125 110 100 90 80 mm heff
813 674 51.2 423 367 313 262 P70 X7 101
400 320 300 280 240 210 200 mm heff
2933 209.9 1905 1718 1363 116 1037 P70 X7 102
oo (1 05 C50/60 | CA45/55 | C40/50 | C35/45 | C30/37 | (C25/30 | C20/25 102N 210
25 155 148 141 134 122 1.10 1.00 fg
ID2N NY'NY7 PTIN | fek |
fan=0.5+ 6 het

071y 22 PN NYOWN 070 fan
320 280 240 210 200 170 150 125 110 100 90 80  |heft s
0.53 0.54 0.54 0.55 0.55 0.56 0.57 0.58 0.59 0.60 0.61 0.63 60
0.54 0.54 0.55 0.56 0.56 0.57 0.58 0.59 0.61 0.62 0.63 0.65 70
0.54 0.55 0.56 0.56 0.57 0.58 0.59 0.61 0.62 0.63 0.65 0.67 80
0.55 0.55 0.56 0.57 0.58 0.59 0.60 0.62 0.64 0.65 0.67 0.69 90
0.55 0.56 0.57 0.58 0.58 0.60 0.61 0.63 0.65 0.67 0.69 0.71 100
0.57 0.57 0.59 0.60 0.60 0.62 0.64 0.67 0.69 0.71 0.73 0.76 125
0.58 0.59 0.60 0.62 0.63 0.65 0.67 0.70 0.73 0.75 0.78 0.81 150
0.60 0.62 0.64 0.66 0.67 0.70 0.72 0.77 0.80 0.83 0.87 0.92 200
0.61 0.63 0.65 0.67 0.68 0.72 0.74 0.79 0.83 0.87 0.91 0.96 220
0.63 0.65 0.67 0.70 0.71 0.75 0.78 0.83 0.88 0.92 0.96 1.00 250

0.66 0.68 0.71 0.74 0.75 0.79 0.83 0.90 0.95 1.00 1.00 300
0.68 0.71 0.74 0.78 0.79 0.84 0.89 0.97 1.00 350
0.71 0.74 0.78 0.82 0.83 0.89 0.94 1.00 400
0.76 0.80 0.85 0.90 0.92 0.99 1.00 500
0.81 0.86 0.92 0.98 1.00 1.00 600
0.86 0.92 0.99 1.00 700
0.92 0.98 1.00 800
0.97 1.00 900
1.00 960

CT50Pro + rebar




fan=0.5 +

3. heff
[ID2N N¥PR PN NYDWN DTN frN
320 280 240 210 200 170 150 125 110 100 90 80 heff C
0.56 0.57 0.58 0.60 0.60 0.62 0.63 0.66 0.68 0.70 0.72 0.75 60
0.57 0.58 0.60 0.61 0.62 0.64 0.66 0.69 0.71 0.73 0.76 0.79 70
0.58 0.60 0.61 0.63 0.63 0.66 0.68 0.71 0.74 0.77 0.80 0.83 80
0.59 0.61 0.63 0.64 0.65 0.68 0.70 0.74 0.77 0.80 0.83 0.88 90
0.60 0.62 0.64 0.66 0.67 0.70 0.72 0.77 0.80 0.83 0.87 0.92 100
0.63 0.65 0.67 0.70 0.71 0.75 0.78 0.83 0.88 0.92 0.96 1.00 125
0.66 0.68 0.71 0.74 0.75 0.79 0.83 0.90 0.95 1.00 1.00 150
0.68 0.71 0.74 0.78 0.79 0.84 0.89 0.97 1.00 175
0.71 0.74 0.78 0.82 0.83 0.89 0.94 1.00 200
0.76 0.80 0.85 0.90 0.92 0.99 1.00 250
0.81 0.86 0.92 0.98 1.00 1.00 300
0.86 0.92 0.99 1.00 350
0.92 0.98 1.00 400
1.00 1.00 480
Nrd,s = Nrk,s/ Ysn jynnina 7wl 1.3
— @40 | @36 | @32 | @28 | @25 | @22 | @20 | @18 | @16 | @14 | @12 | @10 | @8 mm | 71270p
l 1257 | 1018 | 8042 | 615.8 | 490.9 | 3945 | 3142 |257.65| 201.1 | 153.9 | 113.1 | 785 | 503 | mm2 As
kN Nrdls
232 228 225 222 220 218 216 214 212 @210 28 mm 7112701
315.7 2258 192.9 149.3 123.6 100.0 79.3 60.7 443 30.7 20.0 ST500 |17 '7712
Nra = min {Nva,c, Nrdp , Nras} :N9"7w1 7U DID'O
Nrd > NIM7 11X 197w 21YN 7V 7Y9I0N 2N ONIVIN
mma'7wl-2
Vrd,s =Vrk,s/ Ysv jynmina'7wa 2.1
kN Vrd,5
I @32 @28 @25 @22 @20 @18 216 @14 @12 210 78 mm 7112 01p
147.3 112.5 90.0 69.7 57.7 46.7 37.0 283 20.7 143 9.3 ST500 |t 712
Vid,c= Vord,c fg.fyv.fary [IDaN Y 197 ‘7w 2.2

LADIT 0TINND DY WP X7 X701 ,NXPAN ONXP TIXD 0NN NI IX 2 W1 NTNAa

0
Mo pyn 7w amn pPnptn | Vide

[ID2N 210 NY9WN OTPN f8

(102N DX (1121 7907 NN I A Nt nyswn oTpn | fyy

DIYN 2 PNN0EIDAN AYpR pmn nyawn oTpn | fary

(mm) 7712 01p d

(mm) iy mpnn pnly heff

(mm) (102N NP TV PNIN d

CT50Pro + rebar




a=0,1. (heff/c)o'5 rd c=[24. d“ heffﬁ 250 > '5 1/1500 PITO X7 |ID27
B=01. d/c)
kN Vord,c
@32 228 225 222 220 218 216 214 212 210 28 7Ta701p
320 280 210 210 170 170 125 125 110 90 80 | heff @
13.77 | 1239 | 1064 | 1027 | 930 | 9.06 | 8.04 | 7.81 7.32 6.75 6.34 60
16.10 | 1459 | 1264 | 1223 | 11.15 | 1087 | 9.72 9.46 8.90 8.25 7.77 70
1851 | 16.86 | 14.73 | 1428 | 13.07 | 12.77 | 1149 | 11.19 | 10.57 9.83 9.29 80
20.99 | 19.21 | 16.89 | 1640 | 15.08 | 1474 | 1333 | 13.00 | 1231 | 11.49 | 10.89 90
2354 | 21.63 | 1913 | 1859 | 17.15 | 16.79 | 1524 | 1488 | 1412 | 13.22 | 1255 100
26.16 | 24.11 | 21.43 | 20.84 | 19.30 | 1890 | 17.22 | 16.83 | 16.00 | 15.02 | 14.28 110
30.20 | 27.96 | 25.00 | 2435 | 2264 | 2219 | 2032 | 19.88 | 1894 | 17.83 | 17.00 125 §_'
3438 | 3194 | 2871 | 27.99 | 26.11 | 2562 | 23.55 | 23.06 | 22.02 | 20.78 | 19.86 140 E
3724 | 3466 | 31.25 | 30.50 | 28.50 | 2798 | 25.77 | 25.25 | 2414 | 22.82 | 21.83 150 E_
4462 | 41.72 | 37.86 | 36.99 | 34.71 | 3411 | 31.58 | 30.98 | 29.69 | 28.16 | 27.00 175
5232 | 49.09 | 4478 | 43.81 | 41.24 | 4057 | 37.70 | 37.02 | 3556 | 33.81 | 3249 200
68.60 | 64.73 | 59.52 | 5833 | 55.19 | 5436 | 50.83 | 49.99 | 48.17 | 45.99 | 44.33 250
8597 | 8145 | 7534 | 7393 | 70.22 | 69.24 | 65.04 | 64.03 | 61.85 | 59.23 | 57.23 300
10432 | 99.15 | 92.14 | 90.51 | 86.24 | 85.09 | 80.22 | 79.04 | 76.50 | 73.43 | 71.08 350
123.59 | 117.77 | 109.86 | 108.01 | 103.16 | 101.85 | 96.30 | 94.95 | 92.05 | 88.52 | 85.82 400
164.64 | 157.52 | 147.81 | 145.51 | 139.50 | 137.87 | 130.95 | 129.25 | 125.60 | 121.15 | 117.73 500
208.75 | 200.33 | 188.80 | 186.05 | 178.87 | 176.91 | 168.60 | 166.54 | 162.14 | 156.75 | 152.60 600
280.09 | 269.71 | 255.43 | 251.98 | 243.03 | 240.56 | 230.13 | 227.54 | 221.97 | 215.14 | 209.86 750
fom fo )015 C50/60 C45/55 C40/50 C35/45 C30/37 C25/30 C20/25 |ID2N 210
B=(%¢
25 1.55 1.48 141 134 122 1.10 1.00 fa
90° 80° 70° 60° 50° 40° 30° 20° 0° Y
2.5 232 1.97 1.64 1.40 1.24 1.13 1.05 1 fyv
D20 N¥P7 N'oN' N2 ORIV NNt | \ |
1 0 (o]
fy = ;i — 0" < y<90
(cosy)” + (0,25 -siny)
|ID2N NYP'Y7 7127100 NIDN 2D DX PR AYNT W ,90°-n N7ITa NIt NTMA
JID2N NYP'7 190 1122 11'AY NIDN 2N AWNNNT 1IN 'Y
fARy = 1 TTA YT *
(mm) NP'TaN 11 197 102N NXP TY PN C ¢ 3C+5S7+5)+ 53+ + St o1y N¥Iap'7 *
ARV =
(mm) 12N NXP DY 720 1P '97 DAY 12 PNn Sx 3nc
[ID2N N¥P7 N2NP 20 NIYAD 01y 1900 n

> > @

1020 DX

CT50Pro + rebar




Vrd,cp= 2 .Nrd,c Pryout'n'7'7w3 2.3

| (1.2n9"7w2a 7wd 2IW'N NXD) | Nrd,c |

Vrd = min {Vrd,p 7 Vrd,( 7 Vrd,s} N '7\!!3 nin'o
Vid > NIN7 17X 1972 21YN 7Y 7V9I00N 2N 0DIYN

A71vnnoniyn77vw) -3

[[ID2-[1D2 IX NT79-NT79 INI72,”210” INIXD N1'TI/N9'7W 'ODIY 7V 217'W 0'awUNnD

21y 7y 7y9INn N9'7w21 [N 0nly Nsd
Nsd )1’1 (—Vsd )1’5<1 i c |
NRd,concrete e [ayn 7y 7y9I00 1T 2N 0Ny Vsd
Nsq )2 Ny Vsd )2 o Nrds = NRd steel
NRd steel VRd,steel - Vids = VRd,steel
1lpna 1T

AN NP7 (1
.NYI2DIMIX XN7 DY 21NN DX N7 (2

(

(
11NN 910D ININA DX PTA7 (3
.12'02 DINN NX 01317 (4
(

JI'910 NIYA"NN7 TY NIpT 90-30 'NNN7 (5

3
~@ o

o'’pn
- |J”|7[] DD XN
% ‘ 08464 CT50Pro 410m
1 08461 CGA410 0T AP NTPX
E 01461 EG410 *70wn At NTpX
ﬁ . 02461 PG410 'DNRA9 NPT NTPX
&L

054-7976110 N”y2a D'TX N12N 0TIAN'7 NII9Y7 X1 ,ND0I11 N'7XVY '702



